

# **City Council Meeting Agenda**

Tuesday, May 25, 2021 7:00 PM

- 1) Call to Order
- 2) Roll Call of Members
- 3) Presentation of Bid Recommendations
  - A) Award Recommendation for the 2021 Sidewalk Improvement Contract
- 4) Adjourn

All agendas are subject to change.

#### **City Council Policy for Correspondence:**

All correspondence addressed to City Council or requested to be distributed to City Council by the sender is a matter of public record and will be placed on the City of Bexley Website (www.bexley.org) at Public Documents > City Council > Council Correspondence. If the subject of the correspondence is not on the Council Agenda, the sender may discuss the issue during Public Comments. If the subject of the correspondence is on the Council Agenda, the sender may discuss the issue at the time the issue is addressed during the Council meeting.

#### **City Council Policy for Public Comments:**

Members of the public are encouraged to provide comments to City Council at the following times:

### For issues that are not on Council's agenda:

• At a designated public comment period near the beginning of the meeting

#### For items on Council's agenda (when speaker slip has been filled out in advance):

- During an ordinance or resolution that is being discussed
- Residents may submit up to two separate speaker slips per meeting
- Please note that the speaker slip must be filled out prior to entering Council chambers and must be promptly handed to the Council secretary

#### For items on Council's agenda (when a speaker slip has not been filled out in advance):

- During the public comment period after a motion has been made and seconded to adopt an ordinance or resolution (typically the third reading)
- During a designated public comment period at the end of the meeting

#### Time limits for public comments:

While City Council will not routinely impose time limits on either Agenda or Non-Agenda visitors who wish to address City Council, those commenting are asked to confine their remarks to approximately five (5) minutes and for Agenda items, to direct their comments to the subject matter being addressed in the legislation. This five minute limitation also applies to City Council members per 220.01 (rule 13).

### Additional guidelines for public comments:

- Any speaker addressing Council shall provide his/her name and address.
- Undue interruption or other interference with the orderly conduct of remarks is not permitted.
- Defamatory or abusive remarks are always out of order.
- Violation of this policy may result in termination of the speaker's comments and/or removal from the meeting

# BID TABULATION

## 2021 SIDEWALK IMPROVEMENTS

City of Bexley, Ohio

Bids Opened: March 16, 2021, 11:00 a.m.

1 2 3 4

Ref. No.	Item No.	Description	Unit	Quantity	Engineer's Estimate		G&G Concrete Construction, LLC 2849 Switzer Road Columbus, Ohio 43219 (614) 475-4151		Newcomer Concrete Services, Inc. P.O. Box 672 Norwalk, Ohio 44857 (419) 668-2789		Columbus Asphalt Paving 1595 Frank Road Columbus, OH 43223 (614) 278-1224		Strawser Paving Co., Inc. 1595 Frank Road Columbus, OH 43223 (614) 276-5273	
					Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total	Unit Price	Item Total
1	608	Remove and Replace Sidewalk, 4" thick, Class S, Spot Work Various Locations, Per BEX-ST-13	SF	6,000	\$12.00	\$72,000.00	\$11.00	\$66,000.00	\$11.50	\$69,000.00	\$11.60	\$69,600.00	\$17.50	\$105,000.00
2	608	Remove and Replace Sidewalk, 6" thick, Class MS, Spot Work Various Locations, Per BEX-ST-13	SF	1,500	\$13.00	\$19,500.00	\$11.50	\$1 <i>7</i> ,250.00	\$13.00	\$19,500.00	\$13.50	\$20,250.00	\$21.10	\$31,650.00
3	608	Remove and Replace Concrete Curb Ramps, As Directed, Per BEX-ST-11	SF	600	\$14.00	\$8,400.00	\$10.00	\$6,000.00	\$13.00	\$7,800.00	\$13.50	\$8,100.00	\$18.50	\$11,100.00
4	608	2' x 4' Detectable Warning Device, Wet Set, Armortile or approved equal, As Directed, Per BEX-ST-12.1	Ea.	6	\$250.00	\$1,500.00	\$175.00	\$1,050.00	\$250.00	\$1,500.00	\$175.00	\$1,050.00	\$85.00	\$510.00
5	259	Remove and Replace 6" Concrete Drive Approach, Class MS, As Directed, Per BEX-ST-03	SY	150	\$90.00	\$13,500.00	\$7 <i>5</i> .00	\$11,250.00	\$117.00	\$17,550.00	\$100.00	\$15,000.00	\$151.00	\$22,650.00
6	259	Remove and Replace 8" Concrete Alley Approach including Sidewalk, Class MS, As Directed, Per BEX-ST-01	SY	120	\$105.00	\$12,600.00	\$105.00	\$12,600.00	\$126.00	\$15,120.00	\$95.00	\$11,400.00	\$175.00	\$21,000.00
7	609	Remove and Replace Concrete Curb and Gutter, Class S, As Directed, Per BEX-ST-09	LF	300	\$40.00	\$12,000.00	\$35.00	\$10,500.00	\$25.00	\$7,500.00	\$47.00	\$14,100.00	\$50.00	\$15,000.00
8	251	Asphalt Pavement Repair, Spot Removal and Replacement, 3" thick, As Directed, Per BEX-UT-05	SF	200	\$15.00	\$3,000.00	\$25.00	\$5,000.00	\$20.00	\$4,000.00	\$20.00	\$4,000.00	\$21.50	\$4,300.00
9	Spec.	Reconnect Sump/ Downspout Drains under walks (3" or 4" PVC), complete with new fernco couplings, As Directed, Per BEX-ST-20	LF	150	\$15.00	\$2,250.00	\$15.00	\$2,250.00	\$15.00	\$2,250.00	\$22.00	\$3,300.00	\$16.07	\$2,410.50
	VERIFIED BASE BID TOTAL =			\$144,750.00		\$131,900.00		\$144,220.00		\$146,800.00		\$213,620.50		
	BIDDER'S BASE BID TOTAL =						\$131,900.00		\$144,220.00		\$146,800.00		\$213,620.50	

David B. Koch, P.E.

Bid Proposal Check List	G&G Concrete Construction, LLC	Newcomer Concrete Services, Inc.	Columbus Asphalt Paving	Strawser Paving Co., Inc.
Proposal submitted in entirety	Yes	Yes	Yes	Yes
Proposal Completed Correctly	Yes	Yes	Yes	Yes
All spaces filled in properly	Yes	Yes	Yes	Yes
Price for labor and material stated separately	Yes	Yes	Yes	Yes
Total Price Checked	Yes	Yes	Yes	Yes
Non-collusion Affidavit Completed	Yes	Yes	Yes	Yes
Corporation Affidavit Completed (if applicable)	Yes	Yes	Yes	Yes
Affidavit of Personal Property Tax Liability Completed	Yes	Yes	No	Yes
Bid Guaranty and Contract Bond Completed	Yes	Yes	Yes	Yes
Detailed Statement of Qualifications Included	Yes	Yes	Yes	Yes
Sub-Contractors List Included	Yes	Yes	Yes	Yes
Ohio DAS EEO Edge Sub-Contractors 5% Goal	Yes	No	Yes	No
Ohio DAS EEO Certificate	Yes	Yes	Yes	Yes
Campaign Contributions Affidavit Signed & Notarized	Yes	Yes	Yes	Yes
Bond Amount	\$131,900.00	\$144,220.00	\$146,800.00	\$213,620.50
Bonding Agency	Old Republic Surety Company	Merchants Bonding Co. (Mutual)	Ohio Farmer's Insurance Company	Fidelity and Deposit Company of Maryland

From: David B. Koch, P.E. Date: 21 April, 2021

To: City of Bexley, Ohio, Board of Control

Subject: City of Bexley 2021 Sidewalk Improvements, Recommendation for Contract Award

Members of the Board,

I have completed the analysis of the bids received for the City of Bexley 2021 Sidewalk Improvements Project. The attached bid tabulation shows the lowest and best bid for the work is G&G Concrete Construction, LLC who submitted a bid price of \$131,900.00 for all the work described in the bid documents. The bid by G&G Concrete Construction, LLC is approximately nine percent less than the Engineer's Estimate of \$144,750.00 for this work and appears to be fair and reasonable.

G&G Concrete Construction, LLC has displayed acceptable performance and conduct on past projects contracted for the City of Bexley including the 2021, 2018, 2016, 2015 and 2009 Sidewalk Improvements as well as the 2010 City Wide ADA Improvements. They have provided a list of qualifications and equipment and appear to be qualified to perform this type and size of project.

I therefore recommend the contract be awarded to G&G Concrete Construction, LLC for the total amount of One Hundred and Thirty One Thousand Nine Hundred Dollars and no cents (\$131,900.00) for the bid.

Upon receiving your approval, a Notice of Award will be prepared for your signature and then forwarded to G&G Concrete Construction, LLC. for signature. Upon receiving their signatures, I will then forward the contract documents for your review and approval.

Please call me at (614) 949-8102 if you have any questions.

Sincerely,

David B. Koch, P.E. City Engineer

Approved By: City of Bexley Board of Control

Ben Kessler	— William Harvey	Lori Anne Feibel
Mayor	Auditor	Council President